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SHAMEDLE | 203 -42 161 153 112 70 00 -28 -71 -43 -114 -332 -169
RENELBY -134 -98 56 -97 -120 -78 -101 -99 -142 -130 -137 -134 -149
3HARNREL 8.4 2.8 9.8 63 -91 -63 -71 —64 -340 -266 -100 4.2 49
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7 28 38 48 58 68 1A 8B 9B 108 11A 12B 1B 2A8
3HEREDHE | -128 26 128 89 51 00 -65 -128 -208 26 -90 -359 -27.3
BENELEY -65 -77 -103 -139 -169 -105 -158 -115 -169 -120 -143 -143 -145
3HARDRBEL | 141 90 141 114 -38 -13 -13 00 -273 -171 -51 -13 39
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3HARTEDLE | 125 250 00 -37.5 -125 125 125 125 00 125 -125 -37.5 00
RENELRY 00 00 00 -125 -125 00 00 00 00 -125 00 00 00
3HAKEMEBEL | 250 -125 250 -125 -125 -125 250 -250 -250 -125 00 -250 -125
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3HAMEDLE | 91 91 91 91 00 -45 -95 -95 -91 -227 -381 -455 -36.4
BEDELBY -91 00 45 -45 00 -91 00 -95 -182 -227 -190 -273 -27.3
3HBEDEEL | -45 -227 -136 -227 -136 -182 -286 -143 -500 -455 -333 -455 -136
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BEDELBY -343 -229 29 -29 -86 -29 -59 -88 -88 -91 -121 -57 -114
3HA%DREL 00 86 114 171 -171 -86 -147 -118 -412 -394 -91 200 229
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